## TS-25-02 "Workforce Development Project"

Please Note that multiple vendors submitted Alternative Products, as a result we have provided a column which indicates whether the product is "As Requested", "Not Approved Alternative", or "Approved Alternative"

Item 1: ASUS - Vivobook Pro 15 OLED Laptop -	Intel C	ore Ultra 7 WITH	H 16GB Mem	ory - NVIDIA GeForce RTX 305	50 - 1TB SSD - Earl Gray
Company	QTY	Price per Unit	<b>Total Cost</b>	Alternative Product	Notes
Office Depot, LLC (a/k/a ODP Business Solutions)	30	\$1,116.72	\$33,501.60	Not Approved Alternative	
TPRO SERVICES LLC	30	\$1,559.00	\$46,770.00	As requested	
Alternative TPRO SERVICES LLC	30	\$1,559.00	\$46,770.00	N/A	Duplicate of Primary Bid
Shuttles Pro	30	\$1,682.00	\$50,460.00	N/A	No notes, specs or part number included.
Alternative Shuttles Pro	30	\$1,682.00	\$50,460.00	N/A	Duplicate of Primary Bid
Alternative Office Depot, LLC (a/k/a ODP Business Solutions)	30	\$0.00	\$0.00	N/A	No Bid

		Item 2: VR K	it set of 8		
Company	QTY	Price per Unit	<b>Total Cost</b>	Alternative Product	Notes
Alternative Office Depot, LLC (a/k/a ODP Business Solutions)	3	\$350.89	\$1,052.67	Not Approved Alternative	
					Eight piece bundle includes headset, controller,
TPRO SERVICES LLC	3	\$6,499.00	\$19,497.00	Approved Alternative	Avantis Foam Cubes, and software for infteractive
					learning.
Alternative TPRO SERVICES LLC	3	\$6,499.00	\$19,497.00	N/A	Duplicate of Primary Bid
Shuttles Pro	3	\$8,219.00	\$24,657.00	Approved Alternative	No notes, specs or part number included.
Alternative Shuttles Pro	3	\$8,219.00	\$24,657.00	N/A	Duplicate of Primary Bid
Office Depot, LLC (a/k/a ODP Business Solutions)	3	\$0.00	\$0.00	N/A	No Bid

Item 3: Pre-Assembled American Style Heavy-Duty 20 Bay	y Laptop	Charging Cart f	or School Cla	assroom Storing and Charing	20 Chromebook, Laptop, and Tablet
Company	QTY	Price per Unit	<b>Total Cost</b>	Alternative Product	Notes
Shuttles Pro	1	\$736.00	\$736.00	Approved Alternative	
Alternative Shuttles Pro	1	\$736.00	\$736.00	N/A	Duplicate of Primary Bid
TPRO SERVICES LLC	1	\$799.00	\$799.00	Approved Alternative	
Alternative TPRO SERVICES LLC	1	\$799.00	\$799.00	N/A	Duplicate of Primary Bid
Office Depot, LLC (a/k/a ODP Business Solutions)	1	\$0.00	\$0.00	N/A	No Bid
Alternative Office Depot, LLC (a/k/a ODP Business Solutions)	1	\$0.00	\$0.00	N/A	No Bid

Item 4: Wacom One 12 Drawing Tablet with Screen, 1	1.6" Ful	II HD Laminated	Screen Grap	hics Tablet with Wacom One I	Pen, Beginners Creative Tablet
Company	QTY	Price per Unit	<b>Total Cost</b>	Alternative Product	Notes
Office Depot, LLC (a/k/a ODP Business Solutions)	27	\$260.72	\$7,039.44	As requested	
TPRO SERVICES LLC	27	\$429.00	\$11,583.00	As requested	
Alternative TPRO SERVICES LLC	27	\$429.00	\$11,583.00	N/A	Duplicate of Primary Bid
Shuttles Pro	27	\$521.00	\$14,067.00	N/A	
Alternative Shuttles Pro	27	\$521.00	\$14,067.00	N/A	Duplicate of Primary Bid
Alternative Office Depot, LLC (a/k/a ODP Business Solutions)	27	\$0.00	\$0.00	N/A	No Bid

Item 5: ASUS Zenbook Pro 16X OLED Gaming Laptop 16.0" Touch 4K Display						
Company	QTY	Price per Unit	<b>Total Cost</b>	Alternative Product	Notes	
Alternative Office Depot, LLC (a/k/a ODP Business Solutions)	1	\$1,272.60	\$1,272.60	Not Approved Alternative		
Shuttles Pro	1	\$3,294.00	\$3,294.00	Not Approved Alternative		
Alternative Shuttles Pro	1	\$3,294.00	\$3,294.00	N/A	Duplicate of Primary Bid	
TPRO SERVICES LLC	1	\$3,999.00	\$3,999.00	As requested	Order Cancelled	
Alternative TPRO SERVICES LLC	1	\$3,999.00	\$3,999.00	N/A	Duplicate of Primary Bid	
Office Depot, LLC (a/k/a ODP Business Solutions)	1	\$0.00	\$0.00	N/A	No Bid	

		Item 6: Gamir	ng Mouse		
Company	QTY	Price per Unit	<b>Total Cost</b>	Alternative Product	Notes
Alternative Office Depot, LLC (a/k/a ODP Business Solutions)	1	\$22.75	\$22.75	As requested	
Shuttles Pro	1	\$44.00	\$44.00	As requested	
Alternative Shuttles Pro	1	\$44.00	\$44.00	N/A	Duplicate of Primary Bid
TPRO SERVICES LLC	1	\$129.00	\$129.00	As requested	
Alternative TPRO SERVICES LLC	1	\$129.00	\$129.00	N/A	Duplicate of Primary Bid
Office Depot, LLC (a/k/a ODP Business Solutions)	1	\$0.00	\$0.00	N/A	No Bid

Item 7: Canon imagePROGRAF	PRO-1	000 Professiona	l Photograph	ic Inkjet Printer, 17 x 22-Inche	es, Black
Company	QTY	Price per Unit	<b>Total Cost</b>	Alternative Product	Notes
Alternative Office Depot, LLC (a/k/a ODP Business Solutions)	1	\$1,095.82	\$1,095.82	Approved Alternative	Epson C11CH37201. Max Print Size: 17 x 22" Max Print Resolution: 5760 x 1440 dpi.
TPRO SERVICES LLC	1	\$1,599.00	\$1,599.00	As requested	PROGRAF PRO-1100 Model. Printing up to 17" x 22". Max resolution of 2,400dpi x 1,200dpi
Alternative TPRO SERVICES LLC	1	\$1,599.00	\$1,599.00	N/A	Duplicate of Primary Bid
Shuttles Pro	1	\$2,255.00	\$2,255.00	N/A	
Alternative Shuttles Pro	1	\$2,255.00	\$2,255.00	N/A	Duplicate of Primary Bid
Office Depot, LLC (a/k/a ODP Business Solutions)	1	\$0.00	\$0.00	N/A	No Bid

Item 8: BenQ Zowie S1 Symmetrical Gaming Mouse for Esports   Professional Grade Performance   Driverless   Matte Black Coating   Medium Size						
Company	QTY	Price per Unit	<b>Total Cost</b>	Alternative Product	Notes	
Alternative Office Depot, LLC (a/k/a ODP Business Solutions)	30	\$37.67	\$1,130.10	As requested	Order Cancelled	
TPRO SERVICES LLC	30	\$69.00	\$2,070.00	As requested		
Alternative TPRO SERVICES LLC	30	\$69.00	\$2,070.00	N/A	Duplicate of Primary Bid	
Shuttles Pro	30	\$79.00	\$2,370.00	N/A		
Alternative Shuttles Pro	30	\$79.00	\$2,370.00	N/A	Duplicate of Primary Bid	
Office Depot, LLC (a/k/a ODP Business Solutions)	30	\$0.00	\$0.00	N/A		

## Item 9: HP 17.3" Flagship HD+ Business Laptop, 16GB DDR4 RAM, 1TB PCle SSD, Intel Quad Core i3-1125G4(Beat i5-1035G4), Bluetooth, HDMI, Webcam, Windows 11, Silver, w/GM Accessories

		700000	J.1.00		
Company	QTY	Price per Unit	<b>Total Cost</b>	Alternative Product	Notes
TPRO SERVICES LLC	3	\$749.00	\$2,247.00	As requested	
Alternative TPRO SERVICES LLC	3	\$749.00	\$2,247.00	N/A	Duplicate of Primary Bid
Shuttles Pro	3	\$918.00	\$2,754.00	As requested	
Alternative Shuttles Pro	3	\$918.00	\$2,754.00	N/A	Duplicate of Primary Bid
Office Depot, LLC (a/k/a ODP Business Solutions)	3	\$0.00	\$0.00	N/A	No Bid
Alternative Office Depot, LLC (a/k/a ODP Business Solutions)	3	\$0.00	\$0.00	N/A	No Bid

## Item 10: Lenovo ThinkVision T24i-20 24" Full HD WLED LCD Monitor - Raven Black in-Plane Switching (IPS) Technology - 1920 x 1080 - HDMI - VGA - DisplayPort - USB Hub HDMI

Company	QTY	Price per Unit	<b>Total Cost</b>	Alternative Product	Notes
Alternative Office Depot, LLC (a/k/a ODP Business Solutions)	6	\$168.00	\$1,008.00	Approved Alternative	
Office Depot, LLC (a/k/a ODP Business Solutions)	6	\$285.03	\$1,710.18	As requested	
Shuttles Pro	6	\$334.00	\$2,004.00	N/A	
Alternative Shuttles Pro	6	\$334.00	\$2,004.00	N/A	Duplicate of Primary Bid
TPRO SERVICES LLC	6	\$399.00	\$2,394.00	As requested	
Alternative TPRO SERVICES LLC	6	\$399.00	\$2,394.00	N/A	Duplicate of Primary Bid

## Item 11: Lenovo ThinkCentre 50q Gen 4 Business Mini Desktop, 13th Gen Intel Core i5-13420H, 16GB RAM, 512GB PCIe SSD, Display Port, HDMI, RJ-45, Wi-Fi 6, Windows 11 Pro, Black

Company	QTY	Price per Unit	Total Cost	Alternative Product	Notes
Office Depot, LLC (a/k/a ODP Business Solutions)	6	\$602.40	\$3,614.40	As requested	
TPRO SERVICES LLC	6	\$849.00	\$5,094.00	As requested	
Alternative TPRO SERVICES LLC	6	\$889.00	\$5,334.00	N/A	
Shuttles Pro	6	\$1,074.00	\$6,444.00	Approved Alternative	
Alternative Shuttles Pro	6	\$1,074.00	\$6,444.00	N/A	Duplicate of Primary Bid
Alternative Office Depot, LLC (a/k/a ODP Business Solutions)	6	\$0.00	\$0.00	N/A	No Bid

Question	Office Depot, LLC (a/k/a ODP Business Solutions)	TPRO SERVICES LLC	Shuttles Pro
CONFIRMATION TO BIND	Office Depot, LLC (a) N/ a ODF Dusiness Solutions)	TI NO SERVICES LEC	Silutties FTO
I certify that I have read, understood and agree to the terms			
in this solicitation, and that I am authorized to submit this	Confirmed	Confirmed	Confirmed
response on behalf of my company.			
PROJECT DOCUMENTS			
PROPOSERS BACKGROUND INFORMATION FORM	Included	Included	Included
STANDARD DOCUMENTS			
NON-COLLUSIVE AFFIDAVIT	Included	Included	Included
	A) Neither the entity submitting this sworn statement, nor any officers,	A) Neither the entity submitting this sworn statement, nor any officers,	A) Neither the entity submitting this sworn statement, nor any officers,
	directors, executives, partners, shareholders, employees, members, or	directors, executives, partners, shareholders, employees, members, or	directors, executives, partners, shareholders, employees, members, or
SWORN STATEMENT ON PUBLIC ENTITY CRIMES FORM	agents who are active in management of the entity, nor any affiliate of	agents who are active in management of the entity, nor any affiliate of	agents who are active in management of the entity, nor any affiliate of
	the entity have been charged with and convicted of a public entity crime	the entity have been charged with and convicted of a public entity crime	the entity have been charged with and convicted of a public entity crime
	subsequent to July 1, 1989.	subsequent to July 1, 1989. <b>RESUBMITTED</b>	subsequent to July 1, 1989.
EQUAL BENEFITS CERTIFICATION FORM	Contractor currently complies	Contractor currently complies	Contractor currently complies
VENDOR DRUG FREE WORKPLACE CERTIFICATION	Complies Fully	Complies Fully	Complies Fully
	· · · · · · · · · · · · · · · · · · ·		
SCRUTINIZED COMPANY CERTIFICATION	Included	Included	Included
E-VERIFY SYSTEM CERTIFICATION	Included	Included	Included
HUMAN TRAFFICKING AFFIDAVIT	Included	Included	Included
VENDOR INFORMATION FORM	Included	Included	Included
FORM W-9 (REVISED MARCH 2024)	Included	Included	Included
OPTIONAL DOCUMENTATION			
TRADE SECRETS			
FINANCIAL STATEMENTS			
ALTERNATIVES			
	SunBiz		
	Asus Laptop Specs		
	Beng Mouse Specs		
ADDITIONAL INFORMATION	Epson Printer Specs	Limited Liability Report	
ADDITIONAL INFORMATION	Lenovo Monitor Specs	Limited Liability Report	
	· ·		
	Logitech mouse Specs		
	Meta Virtual Reality System Specs		
PROFESSIONAL LICENSES			
VENDOR CLASSIFICATION			
VENDOR CLASSIFICATION Please indicate your Local Vendor Status	Not a Local Vendor	Not Included	Not Included
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification	Not a Local Vendor Bidder does not meet requirements	Not Included Not Included	Not Included Not Included
VENDOR CLASSIFICATION Please indicate your Local Vendor Status			
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification	Bidder does not meet requirements	Not Included	Not Included
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification Local Business Tax Receipts	Bidder does not meet requirements N/A No	Not Included Not Included No	Not Included Not Included No
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification Local Business Tax Receipts Is your firm a Veteran Owned Small Business (VOSB)?	Bidder does not meet requirements N/A No	Not Included Not Included	Not Included Not Included
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification Local Business Tax Receipts Is your firm a Veteran Owned Small Business (VOSB)? Determination Letter from the United States Department of	Bidder does not meet requirements N/A No	Not Included Not Included No	Not Included Not Included No
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification Local Business Tax Receipts Is your firm a Veteran Owned Small Business (VOSB)? Determination Letter from the United States Department of Veteran Affairs Center	Bidder does not meet requirements N/A No N/A NO	Not Included Not Included No No N/A	Not included Not included No No N/A Yes
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification Local Business Tax Receipts Is your firm a Veteran Owned Small Business (VOSB)? Determination Letter from the United States Department of Veteran Affairs Center Is your firm a Minority-Owned Business Enterprise (MBE)?	Bidder does not meet requirements N/A No N/A	Not Included Not Included No N/A	Not Included Not Included No N/A
VENDOR CLASSIFICATION  Please indicate your Local Vendor Status  Local Vendor Preference Certification  Local Business Tax Receipts  Is your firm a Veteran Owned Small Business (VOSB)?  Determination Letter from the United States Department of Veteran Affairs Center  Is your firm a Minority-Owned Business Enterprise (MBE)?  Please indicate the classification of your Minority-Owned	Bidder does not meet requirements N/A No N/A NO	Not Included Not Included No No N/A	Not included Not included No No N/A Yes
VENDOR CLASSIFICATION  Please indicate your Local Vendor Status  Local Vendor Preference Certification  Local Business Tax Receipts  Is your firm a Veteran Owned Small Business (VOSB)?  Determination Letter from the United States Department of Veteran Affairs Center  Is your firm a Minority-Owned Business Enterprise (MBE)?  Please indicate the classification of your Minority-Owned Business Enterprise (MBE)	Bidder does not meet requirements N/A No N/A N/A N/A NO N/A NO	Not Included Not Included No N/A No N/A	Not Included Not Included No No N/A Yes Hispanic-American MBE
VENDOR CLASSIFICATION  Please indicate your Local Vendor Status  Local Vendor Preference Certification  Local Business Tax Receipts  Is your firm a Veteran Owned Small Business (VOSB)?  Determination Letter from the United States Department of Veteran Affairs Center  Is your firm a Minority-Owned Business Enterprise (MBE)?  Please indicate the classification of your Minority-Owned  Business Enterprise (MBE)  MBE Certification Documentation	Bidder does not meet requirements N/A No N/A No N/A No N/A No N/A N/A N/A	Not Included Not Included No No N/A No N/A No N/A	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification
VENDOR CLASSIFICATION  Please indicate your Local Vendor Status  Local Vendor Preference Certification  Local Business Tax Receipts  Is your firm a Veteran Owned Small Business (VOSB)?  Determination Letter from the United States Department of Veteran Affairs Center  Is your firm a Minority-Owned Business Enterprise (MBE)?  Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation  Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation	Bidder does not meet requirements N/A No N/A NO N/A NO N/A NO N/A N/A N/A N/A N/A N/A NO	Not Included Not Included No No N/A No N/A No N/A N/A N/A N/A N/A N/A NO N/A	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification
VENDOR CLASSIFICATION  Please indicate your Local Vendor Status  Local Vendor Preference Certification  Local Business Tax Receipts  Is your firm a Veteran Owned Small Business (VOSB)?  Determination Letter from the United States Department of Veteran Affairs Center  Is your firm a Minority-Owned Business Enterprise (MBE)?  Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation  Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation  Is your firm a HubZone Business / Labor Surplus Area Firm?	Bidder does not meet requirements N/A No N/A No N/A No N/A No N/A N/A N/A N/A NO N/A NO N/A NO	Not Included Not Included No No N/A No N/A No N/A N/A N/A N/A NO N/A NO	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No
VENDOR CLASSIFICATION  Please indicate your Local Vendor Status  Local Vendor Preference Certification  Local Business Tax Receipts  Is your firm a Veteran Owned Small Business (VOSB)?  Determination Letter from the United States Department of Veteran Affairs Center  Is your firm a Minority-Owned Business Enterprise (MBE)?  Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation  Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation  Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification	Bidder does not meet requirements N/A No N/A NO N/A NO N/A NO N/A N/A N/A N/A N/A N/A NO	Not Included Not Included No No N/A No N/A No N/A N/A N/A N/A N/A N/A NO N/A	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification Local Business Tax Receipts Is your firm a Veteran Owned Small Business (VOSB)? Determination Letter from the United States Department of Veteran Affairs Center Is your firm a Minority-Owned Business Enterprise (MBE)? Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation	Bidder does not meet requirements N/A No N/A No N/A No N/A No N/A N/A N/A N/A NO N/A NO N/A NO	Not Included Not Included No No N/A No N/A No N/A N/A N/A N/A NO N/A NO	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification Local Business Tax Receipts Is your firm a Veteran Owned Small Business (VOSB)? Determination Letter from the United States Department of Veteran Affairs Center Is your firm a Minority-Owned Business Enterprise (MBE)? Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise	Bidder does not meet requirements N/A No N/A No N/A No N/A No N/A N/A N/A N/A NO N/A NO N/A NO	Not Included Not Included No No N/A No N/A No N/A N/A N/A N/A NO N/A NO	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification Local Business Tax Receipts Is your firm a Veteran Owned Small Business (VOSB)? Determination Letter from the United States Department of Veteran Affairs Center Is your firm a Minority-Owned Business Enterprise (MBE)? Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?	Bidder does not meet requirements N/A No No N/A No N/A No N/A NO N/A N/A NO	Not Included Not Included No No N/A No N/A No N/A N/A No	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No N/A No
VENDOR CLASSIFICATION  Please indicate your Local Vendor Status  Local Vendor Preference Certification  Local Business Tax Receipts  Is your firm a Veteran Owned Small Business (VOSB)?  Determination Letter from the United States Department of Veteran Affairs Center  Is your firm a Minority-Owned Business Enterprise (MBE)?  Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation  Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation  Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm?  Guernentation  Is your firm a Broward County Small Business Enterprise (SBE)?	Bidder does not meet requirements N/A No	Not Included Not Included No No N/A No N/A No N/A N/A No	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No N/A No
VENDOR CLASSIFICATION  Please indicate your Local Vendor Status  Local Vendor Preference Certification  Local Business Tax Receipts  Is your firm a Veteran Owned Small Business (VOSB)?  Determination Letter from the United States Department of Veteran Affairs Center  Is your firm a Minority-Owned Business Enterprise (MBE)?  Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation  Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation  Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation  Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Cerification Documentation  Is your firm a Broward County Business Enterprise (CBE)?	Bidder does not meet requirements N/A No	Not Included Not Included No No N/A No	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No N/A No N/A No
VENDOR CLASSIFICATION  Please indicate your Local Vendor Status  Local Vendor Preference Certification  Local Business Tax Receipts  Is your firm a Veteran Owned Small Business (VOSB)?  Determination Letter from the United States Department of Veteran Affairs Center  Is your firm a Minority-Owned Business Enterprise (MBE)?  Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation  Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation  Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation  Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Cerification Documentation  Is your firm a Broward County Business Enterprise (CBE)?	Bidder does not meet requirements N/A No	Not Included Not Included No No N/A No N/A No N/A N/A No	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No N/A No
VENDOR CLASSIFICATION  Please indicate your Local Vendor Status  Local Vendor Preference Certification  Local Business Tax Receipts  Is your firm a Veteran Owned Small Business (VOSB)?  Determination Letter from the United States Department of Veteran Affairs Center  Is your firm a Minority-Owned Business Enterprise (MBE)?  Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation  Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation  Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation  Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation  Is your firm a Broward County Business Enterprise (CBE)?  CBE Certification Documentation  Is your firm a Broward County Disadvantaged Business	Bidder does not meet requirements N/A No	Not Included Not Included No No N/A No	Not Included Not Included No N/A N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No N/A No N/A No
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification Local Business Tax Receipts Is your firm a Veteran Owned Small Business (VOSB)? Determination Letter from the United States Department of Veteran Affairs Center Is your firm a Minority-Owned Business Enterprise (MBE)? Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)? SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)? CBE Certification Documentation Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?	Bidder does not meet requirements N/A No No N/A No	Not Included Not Included No No N/A No	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No N/A No N/A No N/A No N/A No
VENDOR CLASSIFICATION  Please indicate your Local Vendor Status  Local Vendor Preference Certification  Local Business Tax Receipts  Is your firm a Veteran Owned Small Business (VOSB)?  Determination Letter from the United States Department of Veteran Affairs Center  Is your firm a Minority-Owned Business Enterprise (MBE)?  Please indicate the classification of your Minority-Owned Business Enterprise (MBE)?  MBE Certification Documentation  Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation  Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification  Documentation  Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation  Is your firm a Broward County Business Enterprise (CBE)?  CBE Certification Documentation  Is your firm a Broward County Disadvantaged Business  Enterprise (DBE)?  DBE Certification Documentation	Bidder does not meet requirements N/A No	Not Included Not Included No No N/A No	Not Included Not Included No N/A N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No N/A No N/A No
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification Local Business Tax Receipts Is your firm a Veteran Owned Small Business (VOSB)? Determination Letter from the United States Department of Veteran Affairs Center Is your firm a Minority-Owned Business Enterprise (MBE)? Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)? SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)? CBE Certification Documentation Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?	Bidder does not meet requirements   N/A   No   No   No   No   No   No   No   N	Not Included Not Included No No N/A No	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No N/A No
VENDOR CLASSIFICATION  Please indicate your Local Vendor Status  Local Vendor Preference Certification  Local Business Tax Receipts  Is your firm a Veteran Owned Small Business (VOSB)?  Determination Letter from the United States Department of Veteran Affairs Center  Is your firm a Minority-Owned Business Enterprise (MBE)?  Please indicate the classification of your Minority-Owned Business Enterprise (MBE)?  MBE Certification Documentation  Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation  Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification  Documentation  Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation  Is your firm a Broward County Business Enterprise (CBE)?  CBE Certification Documentation  Is your firm a Broward County Disadvantaged Business  Enterprise (DBE)?  DBE Certification Documentation	Bidder does not meet requirements N/A No No N/A No	Not Included Not Included No No N/A No	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No N/A No N/A No N/A No N/A No
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification Local Business Tax Receipts Is your firm a Veteran Owned Small Business (VOSB)? Determination Letter from the United States Department of Veteran Affairs Center Is your firm a Minority-Owned Business Enterprise (MBE)? Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)? SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)? CBE Certification Documentation Is your firm a Broward County Disadvantaged Business Enterprise (CBE)? CBE Certification Documentation DDEC Certification Documentation DDEC Certification Documentation DDEC Certification Documentation Does your firm have a Vendor Classification that was not	Bidder does not meet requirements   N/A   No   No   No   No   No   No   No   N	Not Included Not Included No No N/A No	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No N/A No
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification Local Business Tax Receipts Is your firm a Veteran Owned Small Business (VOSB)? Determination Letter from the United States Department of Veteran Affairs Center Is your firm a Minority-Owned Business Enterprise (MBE)? Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)? SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)? CBE Certification Documentation Is your firm a Broward County Disadvantaged Business Enterprise (DBE)? DBE Certification Documentation Does your firm have a Vendor Classification that was not listed above?	Bidder does not meet requirements N/A No	Not Included   Not Included   Not Included   No   N/A   No   No   No   N/A   No   No   No   No   No   No   No   N	Not Included Not Included No No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No N/A No
VENDOR CLASSIFICATION  Please indicate your Local Vendor Status  Local Vendor Preference Certification  Local Business Tax Receipts  Is your firm a Veteran Owned Small Business (VOSB)?  Determination Letter from the United States Department of Veteran Affairs Center  Is your firm a Minority-Owned Business Enterprise (MBE)?  Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation  Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation  Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification  Documentation  Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation  Is your firm a Broward County Business Enterprise (CBE)?  CBE Certification Documentation  Is your firm a Broward County Disadvantaged Business  Enterprise (DBE)?  DBE Certification Documentation  Does your firm have a Vendor Classification that was not listed above?  Other Vendor Classification Certification Documentation	Bidder does not meet requirements N/A No	Not Included   Not Included   Not Included   No   N/A   No   No   No   N/A   No   No   No   No   No   No   No   N	Not Included Not Included No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No N/A No
VENDOR CLASSIFICATION  Please indicate your Local Vendor Status  Local Vendor Preference Certification  Local Business Tax Receipts  Is your firm a Veteran Owned Small Business (VOSB)?  Determination Letter from the United States Department of Veteran Affairs Center  Is your firm a Minority-Owned Business Enterprise (MBE)?  Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation  Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation  Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification  Documentation  Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation  Is your firm a Broward County Business Enterprise (CBE)?  CBE Certification Documentation  Is your firm a Broward County Business Enterprise (CBE)?  DBE Certification Documentation  Does your firm have a Vendor Classification that was not listed above?  Other Vendor Classification Certification Documentation  FEDERAL DOCUMENTS  Certification Regarding Lobbying; Debarment, Suspension	Bidder does not meet requirements N/A No	Not Included   Not Included   Not Included   No   N/A   No   No   No   N/A   No   No   No   No   No   No   No   N	Not Included Not Included No N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No N/A No
VENDOR CLASSIFICATION Please indicate your Local Vendor Status Local Vendor Preference Certification Local Business Tax Receipts Is your firm a Veteran Owned Small Business (VOSB)? Determination Letter from the United States Department of Veteran Affairs Center Is your firm a Minority-Owned Business Enterprise (MBE)? Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)? SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)? CBE Certification Documentation Is your firm a Broward County Disadvantaged Business Enterprise (DBE)? DBE Certification Documentation Does your firm have a Vendor Classification that was not listed above? Other Vendor Classification Certification Documentation FEDERAL DOCUMENTS	Bidder does not meet requirements N/A No	Not Included Not Included No No N/A No	Not Included Not Included No N/A N/A Yes Hispanic-American MBE MBE Certification Yes WBE Certification No N/A No